STEP 1

PANELS ARE BOLTED
TOGETHER

USING 4NO. M10X20
CARRIAGE BOLTS

AND HEX NUTS (SUPPLIED)

[
e = = U\
= =

—
e
A
N \\ W

\'A W




STEP 2

ONCE PANELS ARE BOLTED
TOGETHER, SECURE TO THE
GROUND WITH M10X77

ANCHOR BOLTS (SUPPLIED)




STEP 3

CORNERS ARE ATTACHED
WITH CORNER CLEATS
(OUTSIDE) AND M10X20
CARRIAGE BOLTS

==



ATTACH THE ROOF PANELS.
ROOF PANELS ARE THE SAME

STEP 4

LS S
S S S OSSO STST)
eSS oSS SoSS\
S SesosSoSoSoSosSos]

>
>

s>
S
FS<S -,
ST
S Ss S SsS
FSOSSOSIOSSSS

S OSOSOSOSOSOS
S SSSsSsososSs
S S SOSOSOSOSOS
S S SS S sosososos
oSS oSoSosososos

5
W
n <
~S2E
x
4X0<
0S2Zo9
BMMTE
IOwnzZ
ﬁT_U.IA
LsSogo
NWBEE
<x,00
[ATTRG B
Wwrehw
ohg=zT SRS
SGR%T s o h ro o
NnO<LOO
<HFOOHKF



HINGE

HINGE

STEP 5

DOORS. ATTACH PADLOCK
HASPS USING M10X20 BOLTS.
ATTACH DOOR STOPS USING
M10X20 COUNTERSUNK
BOLTS. ATTACH HINGES
USING COUNTERSUNK BOLTS
TO DOOR AND M10X20 TO

SIDES

DOORSTOP
1 ¥
4 r ‘
24677/9 | "
A e
SVTT =

DOORSTOP

ar
€<=

HINGE




2000

L S SN SSTSSTN
P O O O O O O O O
E S SN TSNS SSS
LS oSoSoSososososos]
————

) e O B U W N T e e ————— \ A

SoSo
LSS
>
S

0

y B N 5
LSS ARSSS
e N
TSRS
S SSRGS
L D D D RS
OSSO RCS
SSSSs
oo

2000
Double Door

FINISHED CAGE



2000

2000

2000




